Linear Systems of 3 Equations

1. Solve for real numbers.
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z—-2y+2=0,
([ 3z+y—22=0;

(& + 2y — 3z = -8,

(| 2z — 3y + 2z = 9;
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z—y—8z=0,
| 3z + 5y + 42 = 4;
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—3z +y+ 2z = 10,

(2 +2y+32=0,
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lz+y—22=0;

[z =38z - y+1,

[ 3z = 10z — 2y;

[anMnﬂ

2z = 5,6x — 24y + 0,8,
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z+y—2=0,
2r+y—-2=1,
4z + 2y — 32 = 0;
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]; 3) [3 : 2}; 4) [1;4;3];
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5) [8;5;3]; 6) [2;3;4]; 7) [1;3;5]; 8) [6;8;3]; 9) [7;5; —3];
10) (3;5;7); 11) [11;13;17); 12) [3;57]; 13) [0;1;2];

14) [5;—-3;1); 15) [0;0;0]; 16) [1;1;2]; 17) No solution.
18)e=t y= g(t—l); z= %(t+5); teR

2. Solve for real numbers.
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